12

11

10 9 6 5 3
|H
x| (C
IG
N~
AN
) (7
™,
CAL TV A @17.5x 35 LG SLOTS
(9]
3600 -
@73 POLE > ¢ o o o o
1260
—
ey -8, (-8
- e = - SIDE VIEW
i 1T i .
o ® o O O O o |0 0  ©® ©|© © © © © © ™ 17 M16 x 50 3 M16 x 50mm BOLT, HEX HD, A2-70
0 —7 v 16 D-SHACKLE 2 340KG WLL, 316 S/S
15 CHAIN 1 CHAIN, LINK, 3/16", S/S
14 M16 NYLOC 25 M16 NYLOC, A2-70
13 M16 WASHER LARGE 16 M16 WASHER, FLAT 380D x 3 THK, A2-70
12 M16 WASHER 25 M16 WASHER, FLAT, A2-70
11 M12 x 35 12 M12 x 35mm BOLT, CONE POINT, A2-70
10 M12 x 40 12 M12 x 40 BOLT, HEX HD, A2-70
9 M16 x 80 22 M16 x 80mm BOLT, HEX HD, A2-70
8 220092 4 HD MOUNTING PLATE
7 220069P 2 HD POLE, @73 OD x 3600 LONG
6 220093 3 WASHER PLATE
5 220079 3 HD POLY TORSION ARM, S/S
4 220090 1 HD BLADES, 2400mm PAIR
3 220080 1 HD BLADE, NOSE
2 220069F 1 HD FRAME, 2400 BW
1 220060F 1 HD FRAME, NOSE PIECE
ITEM ITEM CODE QTY DESCRIPTION
©2016 Belle Banne Conveyor Products ORDERING NUMBER| BBTP-HD-2400 M/S A2 Belle Banne Conveyor Products
GENERAL NOTES y
ALL RIGHTS RESERVED MATERIAL STEEL, MILD TRy
1. WELDING SYMBOLS STANDARD
THIS DOCUMENT (DRAWING) AND THE TO ISO 2553 METHOD A. ESTIMATED WEIGHT 166 WEIGHT UNITS KG
DATA SHOWN THEREON ISPROPERTY | Rewove ALt surrs ano sware ORIGINAL BY C. Humphries HD TORSION PLOUGH
BELLE BANNE CONVEYOR PRODUCTS. | EDGES. SEVISED BY 2400mm BELT WIDTH
RSYNI\%INUNS&E%%PJO%RAEI\E(PF?UOR%%CSEEIN 3. ALL DIMENSIONS IN MILLIMETERS MILD STEEL ik ocp com au
WHATSOEVER. WITHOUT THE PRIOR UNLESS OTHERWISE STATED. ORIGINAL DATE 15/05/2018 | REVISED DATE e com s
WRITTEN CONSENT OFBELLE BANNE 4. THIRD ANGLE
CONVEYOR PRODUCTS PROJECTION @ 6 VERSION 0 ITEM CODE 220069 DWG BBCP 3 220069
REV DESCRIPTION BY | DATE |SCALE 1:14 SHEET 1 OF 1 NO. VT

12 1 I 10 9 8 / 6 o 4 3 I 2 I 1




